Spring '08/MAT 250/Exam 2 Name: Sﬂa’é’ﬂ[‘k‘*ﬂ Show all your work.

Differentiate and simplify where appropriate:
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6. (10pts) Use logarithmic differentiation to find ;_I (sin z)*=".
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T. (1dpts) Use implicit differentiation to find the equation of the tangent line to the curve
7 2z —ar L ="2ab (1,2).
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8. (10pts) Determine the following higher derivatives:
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9. (14pts) The position of a ball thrown upward with initial velocity 40 meters per secomd
is given by s(t) = —5¢% 4+ 40t

a) When does the ball reach its highest point and what is its altitude then?

b) When is the hall at height 60 meters? What is its velocity then?
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